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G 1959 :

(i) 3G F-97 5 F730 F97 3 | G 397 IHTH & |

(ii)  F9H T & 37 Iq GHA T TTE |

(iii) Fo7 G@T1 @8 TF Il TG-FF0T J97 & | I4% J97 1 3% 1 & | 577 & T4% F97
H7 I 30 T G e 78§11 <Y |

(iv) F57 G&IT9 G20 7% I9% ¥97 3 3% F7 8 | 578 & T4 97 &7 IK 80 5] @
371 %7 751 &1 TMET |

(v) ¥ GEIT21 T 28 T TP F97 5 3H HT & | 578 @ Y% J97 &7 I 120 Y15 @
371 %7 751 &1 TMET |

(vi) I G729 3K 30 SIS 3K YT & HHIE Fict 59 T 3 A & 1 58 [
0 & aIE, FIFITA HI IT-YIGTHT & T 778t F T |

General Instructions :

(i)  The question paper has 30 questions in all. All questions are compulsory.

(ii) Marks are indicated against each question.

(iii) Questions from serial number 1 to 8 are Very Short Answer Questions. Each
question carries 1 mark. Answer to these should not exceed 30 words.

(iv) Questions from serial number 9 to 20 are 3 marks questions. Answers of these
questions should not exceed 80 words each.

(v)  Questions from serial number 21 to 28 are 5 marks questions. Answers of these
questions should not exceed 120 words each.

(vi) Question number 29 and 30 are map questions of 3 marks each from History and
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Geography both. After completion, attach the maps inside your answer-book.



1. AR higeh | I &Y fohdl S H T ? 1
YT
M feg ey g fep e @ o 2

To which country did the artist Frederic Sorrieu belong ?
OR
To which country did Ngo Dinh Diem belong ?

2. Sl & T § ? Teh I feAflan | 1

Why is energy needed ? Write one reason.

3. YA H i H GEAT TSHIfeh gl ohl HT=IdT e shidl § 7 1

Which organization does recognize ‘Political Parties’ in India ?

4.  If¢ T TARRAIAD ¢ AlhdINeh SHaET § qREfdd g1 aTadl & dl 98 fohd TehI <l TN
T HIHHAT BT ? 1

If a non-democratic country wants to change into a democratic set up, then which kind

of challenge would it face ?

5. cuma uqg ‘el & e i e E 7 1
Why do pressure groups employ lobbyist ?

6.  H AT 39 SToR & SefifasH @lierT 9rgd 8 af sdeh foTu Sefifasa w 1urer i giifed
T FTCAT i 91 3G T (AT B =TT | 1

Suppose you want to purchase a Television from market, then which logo of quality

should have been marked on the Television ?

7. Tomemm e gt s ? 1

What is the basic function of foreign trade ?

8. TS o foTU ok} & KU1 o1 e HT & 7 1
Why is it difficult for poor to get loan from Banks ?
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9. ‘g™ H INE A ok YEIATA AT H TFA Tehal § Fafud fa=Ri 1 Igramg § e
TEY o7 |” 39 U h1 foveryor Hif | 3
e
“1965 ¥ 1972 % o= IWNEHT o foua ™ g # Hg IS4 ¥ T THT GR I 53T A1
foramfien & ary-wry s & fou off sga wem fag 33 |7 38 wue & faweivo
HIT |

“Ideas of national unity in early nineteenth century Europe were closely allied to the
ideology of Liberalism.” Analyse the statement.

OR
“US entry into the Vietnam war from 1965 to 1972 marked a new phase that proved

costly to the Vietnamese as well as the Americans.” Analyse the statement.

10.  Tefisht 3 ‘GferT o= Ao w1 IRY fohar ¢ fohel fe o i s i | 3x1=3

Why did Gandhiji launch the Civil Disobedience Movement ? Explain any three

reasons.

11.  “mefsht & goamwg & o 3 9o 6 wifte ® 3mg 3 g hl @ ) SR fean s e 17
Y Y o YT H TS hl 3T TS o TN ohl ATeheld shifoT | 3

“Gandhiji’s idea of Satyagraha emphasized the Power of truth and the need to search for
truth.” In the light of this statement assess the contribution of Gandhiji towards

Satyagraha.

12, YRA H 2 o HRUT 3= FATaRon ffientor bl 1 i o feTe obis i Sur ggmse | 3x1=3

Suggest any three measures to minimize the environmental degradation by the

industries in India.

13, “9Ta 4 3 IREsd e o forawor Sfed i §ed: Y- 3TTehideh 3R 31T HRehi A wwifed
fReT 8 1”7 38 SUF < gfY ST IaTeLvll Afgd i | 3

“The distribution pattern of the railway network in India has been mainly influenced by

physiographic and economic factors.” Support the statement with suitable examples.
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14. 9Rd ° §S 1 999 §21 IdTCHh TSI i 91 8 7 BT o fohdl e 3TN 1 Ioci
it | 3

Which State is the largest producer of manganese in India ? Mention any two uses of

mangancse.

15.  “llehaa <hl Siaddr =1 SHEES! 8 AT=dNeh G899 8 |7 Sifctfer=n § g o it o Rgams
BU STTGICH o TehTST H 56 YA <hl SATEAT SHIfT | 3

“Popular struggles are integral to the working democracy.” Explain the statement in the

light of Bolivia’s struggle against privatisation of water.

16.  “CAehdif=reh SHIEAT ANTIERT <hl HTETTIHATI T AU o Tfd Ioier 3 frer 2 17
U T YT I | 3

“Democracy is accountable and responsive to the needs and expectations of the

citizens.” Evaluate the statement.

17. WA | TSI getl ! U =g 81 &1 § fohu M fogl <fie et sht v hifre | 3

Explain any three recent efforts made to reform political parties in India.

18. “F® & ani # YA II9R a&q3i & sgeardt fashed o @y gola: afafda s e d | 7 54
U T g dgd gfE HfT | 3x1=3

“In a matter of years, Indian markets have been transformed with wide ranging choice

of goods.” Support the statement with examples.

19. 3R & UH fohegl i1 STTIR 1 G0 I T ST SATIR SFER a2l Il o foeg
IGh! TETRIT T Fehd % | 3x1=3

Describe any three rights of consumer which can help him / her against unfair trade

practices and exploitation.

20. 3 YAl h1 AT HIT 72 Tohe HsigR 1 T8 7Y 0 % HGIAM &g FG-R H AT
e | 3

Explain the values which a borrower should observe for the proper use of loan taken.
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21. 1848 % §1g ST o Y TAmiur <hi fskan ot Tam il | 5
3T
ferraame & amTsraTg forieft word § ufgenat 6t vfieer 1 wre Al |
Explain the nation building process of Germany after 1848.

OR

Explain the role of women in the anti-imperialist struggle in Vietnam.

22, “@vt TR Og WS i 3T TR & THTIT T & 1”7 1930 o €9 o Hiad
TS I o ATeIeh H $6 2 hi gf¥ HifT |

“Not all social groups were moved by the abstract concept of ‘Swaraj’.” Support the

statement in the light of Civil Disobedience Movement of 1930s.

23, “Ud T Tehi0 ARG FHsll o GEIEE] o ITFN hl 3 SR & — 38 HYF I AT
B | 3+42=5

“There is a pressing need for using renewable energy sources in India.” Justify the

statement.

24, “9Nd H UgH UNaEH, 1ot URTE hi U 3Tfeeh Jiaemsie & |7 ISl afgd 38 e i
q¥ it | 5x1=5

“Roadways have an edge over the railways in India.” Support the statement with

examples.

25. YA Arehad H TSI el bt fireht o1 9ol hifT | 5

Describe the role of Political Parties in Indian Democracy.

26. GHRIH fovd § ford TohR <h TR <hl TUHAT & ? 3 HIHSAT bl SooTd hifoTT ST TATehas
I T’ A h A H i F | 1+4=5

Which kind of government is dominant in the contemporary world ? Mention the issues

that all involved in the challenge of ‘deepening of democracy’.
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27.

28.

29.
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Seni 3R ggeRr) Gitfea w1 toh swor fafafRmt arfior &= d serT F=1 31avas & 7 Wy
it | 5

Why is it necessary that banks and co-operatives increase their lending in rural areas ?

Explain.

Jeeftertor sht wfsham & Sgugi swraf <t yftrent o waw 1 ferveryor hifs | 5

Analyse the importance of multinational companies in the globalisation process.

qId o feu Tu gorifoes Yar-wmfas § &9 @@ A, B 3R C 3ifwd feu e € | 39 @
%! Feferiea e 6t Teg & TEaTT 3R 3 Tel 919 A W i T W@iet
oy : 3x1=3
A. 1922 T STHEAN TG/ i AT9H T & Hafod €M |

B. 98 TJM &l WA UFR SR 1 STTUETH g3 o |

C. 98 TIM S Hidt 1 et H aret ohaHi % g & gwifea ¢ |

On the given political outline map of India, three features A, B, and C are marked.
Identify these features with the help of the following information and write their correct

names on the lines marked on the map :

(A) The place associated with the calling off ‘the Non-Cooperation Movement’ in
1922.

(B) The place where the Indian National Congress Session was held.

(C) The Place associated with the movement of Indigo planters.

e : frafarRaa w7 shaa gfeeariia e F e T @ 29 F WA WE:  3x1=3
(29.1) 38 T %1 AW foRge Stef 1922 # smw@=an g e foran i |

(29.2) 38 TIH 1 AW fIRaT, Tl AR 1920 § WRA™ TEH SR 1 ATICwE g1

1 |

(29.3) 3| WA %1 9 fafaw, S&f Fict 1 @t HE 9Tt FEET H1 3G IRY §31
T |
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Note: The following questions are for the visually impaired candidates only in
lieu of Q. No. 29:

(29.1) Name the place where the Non-Cooperation Movement was called off in 1922.

(29.2) Name the place where the September 1920 session of Indian National Congress

was held.

(29.3) Name the place where the movement of Indigo planters was started.

30. WRA o fou T TSHifos @r-umtas o fafefaa ot Suge fagl @ gurisy 3t 3 9™
fetfaa : 3x1=3
(A) T — e 3R 3o =9
(B) TURT — 3TUTfereh Sl G

(C) IS — SE FHZ T

On the given Political outline map of India, locate and label the following with

appropriate symbols :

(A) Bhilai — An Iron and Steel Plant

(B) Narora — A Nuclear Power Plant

(C) Kandla— A major Sea Port

e : Frfeiad sem Fae gieeanfed whemiiE & e A s 30 P WA WE: 3x1=3

(30.1) TiyerTs et 3R 3o oA fp Tsa A fa B 7

(30.2) T SATT(IH ol B fhH T H {7 7

(30.3) 38 T 1 A ferfgn, &t Hree oyl vaq fRa 2 |

Note : The following questions are for the Visually Impaired candidates only in
lieu of Q. No. 30 :

(30.1) In which State is Bhilai Iron and Steel Plant located ?

(30.2) In which State is the Narora Nuclear Power Plant located ?

(30.3) Name the State where Kandla Sea Port is located.
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% ¥, 29 % fotw At
Map for Q. No. 29

W T TGT-HATT (T HH)
Outline Map of India (Political)
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% ¥, 30 % fotw At
Map for Q. No. 30

W T TGT-HATT (T HH)
Outline Map of India (Political)
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